 Suppose we are doing CRC [Cyelic Redundancy Checking) and the message to be
sent 1z 101101101111 and the Generator iz 10101, What will be the value of the 4
redundancy bits? The remainder when you do the polvwomical division. Note that
these will be the 4 low arder bits of the transmitted frame.

2. Suppose we are doing CRC (Cwclic Redundaney Checking) and the message to be
sent is 111000111 and the Generator is 10101, What will be the value of the 4
rechmdancy bits?

3. What permissions are needed for the PERL .cgi or Iib files vou need? Enter the 3

actal digit code that vou would nse with chmod, please.

e Suppoze that we are sending the & bit ASCI walue 01000111 and are adding the 4

bit Hamming error correction code bits and then transmitting a 12 bit code. You will
recall that the check bits are at positions 8, 4, 2 and 1. There are thus § data bits and
4 check hits. |
What will be the 12 bif transmitted "fratne” or codeword?

Lo 010001110101 ¢ 010010110101 0 10010110111 0 010001110111

Of the following 3 codewords, only one of the origingl signals was recetved without

arty cormuption having oceurred due to noise or EMI problems. Which one is it7
110000010101 <0 110000110101 2+ 110010011100

Of the following 3 codewords, two of the original signals were recerved with

corruphon having ocowred. One of the two had only a nmltiple bit error, where the
position of the error cannot be detected and corrected within the codeword. It will
have ta be RESENT by the sending computer. Which one of the 3 codewords had
an error occur that cannot be corrected at the recemving computer, as it was
advionsh a multiple bit error.

C0 110000010101 £ 110000110107« 110010011100

e' Of the following 3 codewords, two of the origimal signals were received with
' cotruption having occurred. One of the two had only a single bit ervor, where the

pasition of the error can be detected and corrected within the codesword. Which one
of the 3 codewards had an error ocewr that can be corrected at the recenving
camputer, as it was modadly only a smgle bit error

£ 110000010101 ¢2 110000110101 < 110010011100



